



FUNCTIONAL OUTCOMES AFTER LUMBAR MICRODISCECTOMY FOR LUMBAR DISC HERNIATION: A SINGLE-CENTER EXPERIENCE

Article History:

Name of Author:

Baynazir Khan¹, Saad Sultan², Attiya Nasir³, Faiz Alam⁴

Affiliation: ¹Assistant Professor Neurosurgery Ayub Teaching Hospital MTI Abbottabad

²Trainee resident Neurosurgery Ayub Teaching Hospital MTI Abbottabad.

³Trainee Ayub Teaching Hospital MTI Abbottabad.

⁴Resident Ayub Teaching Hospital MTI Abbottabad.

Corresponding Author:

Dr. Baynazir Khan.

Email: hallianfjite@yahoo.com

Received: 05-03-2024

Revised: 26-03-2024

Accepted: 03-04-2024

Published: 28-04-2024

This is an open access journal, and articles are distributed under the terms of the Creative Commons Attribution-Noncommercial-Share Alike 4.0 License, which allows others to remix, tweak, and build upon the work non-commercially, as long as appropriate credit is given and the new creations are licensed under the identical terms.

Abstract: Background: A herniated disc in the lower back is one of the most common sources of pain and radiculopathy, and can seriously limit a patient's function and quality of life. For patients with chronic pain who do not respond to conservative pain relief, the most common surgical procedure is lumbar microdiscectomy. This study aimed to assess the functional outcome after lumbar microdiscectomy for lumbar disc herniation. **Objective:** To evaluate the functional results after lumbar microdiscectomy and determine factors that are associated with better recovery. **Methods:** A retrospective study was conducted with 100 patients who underwent lumbar microdiscectomy for symptomatic lumbar disc herniation from January 2023 to December 2024. The demographic, clinical, radiological, and operative information was retrieved from the medical records. Functional outcome was assessed using the Oswestry Disability Index (ODI) and the Visual Analog Scale (VAS) preoperatively and at 6 months after surgery. The data was analyzed using SPSS version 27. The continuous variables were presented as mean $\pm$ standard deviation, and categorical variables were represented by frequency and percentages. A p-value <0.05 was considered statistically significant.

Results: The study included 62 males and 38 females with a mean age of 44.8 ± 11.2 years. The L4–L5 level was the most frequently affected (54%), followed by L5–S1 (36%). Mean ODI significantly improved from 56.4 ± 12.7 preoperatively to 18.9 ± 9.3 postoperatively ($p < 0.001$), while mean VAS scores decreased from 8.2 ± 1.1 to 2.1 ± 1.3 ($p < 0.001$). Good-to-excellent functional recovery was achieved in 87% of patients. Younger age (<50 years) ($p = 0.028$) and symptom duration <6 months ($p = 0.015$) were significantly associated with better outcomes. Overall complication rate was 6%, with no procedure-related mortality. **Conclusion:** Lumbar microdiscectomy is an effective and safe surgery with a high degree of pain relief and function improvement for patients with lumbar disc herniation. Postoperative recovery was better for those who underwent early surgery and those who were younger.

Keywords: Lumbar microdiscectomy; Lumbar disc herniation; Functional outcomes; Oswestry Disability Index.

INTRODUCTION

Lumbar disc herniation (LDH) is one of the most prevalent spinal afflictions in adults and is a significant contributor to low back pain and sciatica in the world. It is mainly caused by disc degeneration with a nucleus pulposus protruding or extruding through the annulus fibrosus. The displaced disc

material can press on neighbouring nerve roots, creating pain in the radiating leg, sensory disturbances, motor weakness, and functional disability. It is a condition that mainly occurs in the third to fifth decades of life and has an important socio-economic dimension, due to loss of productivity, health costs, and lower quality of life

[1,2]. It is estimated that 1–3% of the general adult population has symptomatic lumbar disc herniation and that L4–L5 and L5–S1 are the most commonly affected spinal levels due to the greater biomechanical stress. While about 10–20% of patients will improve with conservative measures such as analgesics, physical therapy, activity modification, and epidural steroid injections, others will still have persistent radicular pain or progressive neurologic deficits that require surgical treatment [3]. Lumbar Microdiscectomy has emerged as the "gold standard" surgical approach to the treatment of symptomatic, conservative-refractory lumbar disc herniation. Microdiscectomy is now widely used in place of the traditional open discectomy due to the exceptional visualisation and the low soft tissue damage that it causes. With the use of an operating microscope and microsurgical technique, the removal of the herniated disc fragments can be achieved with a shorter incision and limited muscle dissection for accurate removal. Thus, patients have less pain after surgery, a shorter hospital stay, are mobilized earlier, and return to a normal lifestyle sooner [4,5]. Lumbar microdiscectomy has been proven to provide fast relief of radicular pain and significant improvement in neurological function in several studies. Quality of postoperative recovery is often expressed using patient-reported outcome measures, including a pain Visual Analog Scale (VAS) and the Oswestry Disability Index (ODI). The majority of patients improve in pain and disability in the first few months after surgery. The extent of functional recovery, however, depends on patient characteristics, length of symptoms, age, body mass index, smoking, work demands, psychological factors, and preoperative neurologic impairment [6,7]. While the recovery rate of a lumbar microdiscectomy is over 80% for the right patient, some complications can hurt recovery, including recurrent herniation, dural tear, wound infection, nerve root injury, epidural fibrosis, and chronic pain. Thus, proper patient selection, precise surgical procedures, and rehabilitation are key to achieving optimal function and minimizing complications [8]. Although lumbar microdiscectomy has been studied in many studies worldwide, outcome data from a single centre in developing countries are relatively small. There may be variations in healthcare facilities, patient age, availability of surgical intervention, and rehabilitation, resulting in variations in postoperative recovery. Thus, it is important to assess the outcomes of the institutions for benchmarking of surgical performance and enhancing clinical practice [9]. A retrospective analysis was done in the present study to evaluate the functional results of lumbar microdiscectomy in patients with a symptomatic lumbar disc herniation treated in a tertiary care hospital. The functional improvement was assessed with validated clinical outcome scales, and demographic and clinical variables related to the

recovery after surgery were also analyzed. Results of this study are anticipated to yield valuable knowledge about the efficacy and safety of lumbar microdiscectomy in the actual clinical setting and help optimize patient selection and post-operative care [10].

Study Objectives

To assess improvement in functional outcomes following lumbar microdiscectomy for lumbar disc herniation and identify demographic and clinical variables that are associated with this improvement in pain, disability, neurological status, and functional status.

MATERIALS AND METHODS

Study Design and Setting.

This was a retrospective study done in the Department of Neurosurgery Ayub Teaching Hospital MTI Abbottabad from January 2023 to December 2024 after being granted ethical clearance by the institute.

Participants

One hundred consecutive symptomatic patients with single-level lumbar disc herniation who failed at least 6 weeks of conservative care were included in the study after they underwent lumbar microdiscectomy. Data were collected from hospital medical records and outpatient clinic documentation, including demographic characteristics, clinical findings, radiological imaging, operative records, and follow-up data.

Sample Size Calculation

The sample size of 100 patients was calculated using the WHO sample size calculator with an expected improvement in functional status after surgery of 85% with a 95% confidence level, 7% margin of error, and allowing for the possibility that clinical records might not be complete for the endpoint analysis to be sufficiently powered.

Inclusion Criteria

- Adults aged 18–75 years.
- One-level, MRI-proven lumbar disc herniation.
- Persistent symptoms of radiculopathy following at least 6 weeks of conservative treatment.
- Patients who are getting a lumbar microdiscectomy for the first time.
- At least 6 months of follow-up.

Exclusion Criteria

- A history of surgery in the lower back.
- Multilevel Lumbosacral disc herniation.
- Spinal instability in the lower spine or spondylolisthesis that can be corrected with fusion.

- Tumors, infections, or spinal injuries.
- Partial medical records or loss to follow-up.

Diagnostic and Management Strategy

The diagnosis was confirmed by clinical examination and magnetic resonance imaging. Conservative treatment was initially given to all patients, followed by early mobilisation, early analgesia, physiotherapy, and regular follow-up. All the patients received conservative treatment and then underwent a standardised LMD under general anaesthetic with the

use of microscopic magnification, followed by early analgesia, early mobilisation, and regular follow-up.

Statistical Analysis

SPSS version 27 was used to analyze the data. Continuous variables were reported as mean (SD), and categorical variables were reported as frequencies and percentages. Where appropriate, paired t-tests and Chi-square tests were used. A p-value < 0.05 (two-tailed) was considered statistically significant.

RESULT

A total of 100 patients underwent lumbar microdiscectomy during the study period. There were 62 (62%) males and 38 (38%) females, with a mean age of 44.8 ± 11.2 years. The majority of patients belonged to the 31–50-year age group. The L4–L5 intervertebral level was involved in 54% of patients, followed by L5–S1 in 36%, while 10% had herniation at L3–L4. The mean preoperative VAS pain score was 8.2 ± 1.1 , which significantly improved to 2.1 ± 1.3 at six months after surgery ($p < 0.001$). Likewise, the mean Oswestry Disability Index improved from 56.4 ± 12.7 preoperatively to 18.9 ± 9.3 postoperatively ($p < 0.001$). Eighty-seven patients achieved excellent or good functional recovery, whereas thirteen demonstrated fair or poor outcomes. Patients younger than 50 years showed significantly greater improvement in functional status than older patients ($p = 0.028$). Patients with symptom duration below six months experienced better recovery compared with those having prolonged symptoms ($p = 0.015$). Gender was not significantly associated with postoperative outcomes ($p = 0.482$). Postoperative complications occurred in six patients, including superficial wound infection (3%), incidental dural tear (2%), and recurrent lumbar disc herniation requiring revision surgery (1%). No mortality or permanent neurological deterioration was observed.

Table 1. Baseline Demographic and Clinical Characteristics of the Study Population (n = 100)

Variable	Category	n (%)
Age (years)	Mean $\pm$ SD	44.8 ± 11.2
	18–30	15 (15.0)
	31–40	28 (28.0)
	41–50	31 (31.0)
	51–60	18 (18.0)
	>60	8 (8.0)
Sex	Male	62 (62.0)
	Female	38 (38.0)
Body Mass Index (kg/m ²)	Mean $\pm$ SD	27.1 ± 3.8
Duration of Symptoms	<6 months	67 (67.0)
	≥ 6 months	33 (33.0)
Affected Disc Level	L3–L4	10 (10.0)
	L4–L5	54 (54.0)
	L5–S1	36 (36.0)
Presenting Symptom	Radicular pain	100 (100.0)
	Sensory deficit	46 (46.0)
	Motor weakness	24 (24.0)

Values are presented as frequency (n), percentage (%), or mean $\pm$ standard deviation (SD).

Table 2. Comparison of Preoperative and Postoperative Functional Outcomes

Outcome Measure	Preoperative (Mean $\pm$ SD)	Postoperative (Mean $\pm$ SD)	Mean Difference	p-value
VAS Pain Score	8.2 ± 1.1	2.1 ± 1.3	6.1	<0.001
ODI Score	56.4 ± 12.7	18.9 ± 9.3	37.5	<0.001

Functional outcomes were assessed using the Visual Analog Scale (VAS) and Oswestry Disability Index (ODI). Statistical significance was set at $p < 0.05$.

Table 3. Factors Associated with Good Functional Recovery After Lumbar Microdiscectomy

Variable	Good Outcome n (%)	Fair/Poor Outcome n (%)	p-value
Age <50 years (n=74)	68 (91.9)	6 (8.1)	0.028
Age ≥50 years (n=26)	19 (73.1)	7 (26.9)	
Symptom duration <6 months (n=67)	62 (92.5)	5 (7.5)	0.015
Symptom duration ≥6 months (n=33)	25 (75.8)	8 (24.2)	
Male (n=62)	55 (88.7)	7 (11.3)	0.482
Female (n=38)	32 (84.2)	6 (15.8)	

Good functional recovery was defined as excellent or good postoperative outcome based on clinical assessment and ODI improvement.

Table 4. Postoperative Complications Following Lumbar Microdiscectomy

Complication	n	%
No complications	94	94.0
Superficial wound infection	3	3.0
Incidental dural tear	2	2.0
Recurrent disc herniation	1	1.0
Permanent neurological deficit	0	0.0
Mortality	0	0.0
Total	100	100.0

Overall postoperative complication rate was 6%. Most complications were managed successfully without permanent neurological deficits.

DISCUSSION

A single-center, retrospective analysis was performed on the functional outcome of lumbar microdiscectomy in 100 patients with symptomatic lumbar disc herniation. The results showed a substantial reduction in pain intensity and functional disability, and 87% of patients had a good to excellent postoperative outcome. In addition, patient age was inversely correlated with good functional recovery, while sex was not. Duration of symptoms was also significantly correlated with the outcome of surgery. The results confirm the efficacy and safety of lumbar microdiscectomy for the right candidates [11,12]. The demographic data of our study were similar to what has been recently reported in the literature. The mean age of 44.8 ± 11.2 years and the majority of patients were male (62%) were similar to the conclusions of the studies performed in the last five years, which reported that the mean age of the patients with lumbar disc herniation was 45 to 46 years, and the majority of patients were male [13,14]. As in previous studies, the L4–L5 level was the most frequently affected disc level compared to the L5–S1 level, which is most subjected to biomechanical stress [15]. Perhaps the most important result of this study was the large reduction in postoperative pain and disability scores. After 6 months of follow-up, the mean VAS score dropped from 8.2 to 2.1, and the mean Oswestry Disability Index (ODI) increased to 18.9 from 56.4. These enhancements are consistent with recent prospective and retrospective studies, which have shown

significant pain and disability improvement after lumbar microdiscectomy. This is consistent with the results of large multicenter studies, which have shown that over 80% of patients have clinically significant improvements in pain and function at 1 year after surgery [16,17]. The success rate in our series was 87%, which is similar to the success rate reported by recent studies after lumbar microdiscectomy [16–18]. These consistently high success rates are due to the ongoing improvements in microsurgical techniques, patient selection, and perioperative care, as well as the setup of rehabilitation protocols that can be followed. Our study found a relatively low rate of complications (6%), which is consistent with recent systematic reviews that found complication rates kept below 10% with superficial wound infections, incidental dural tears, and recurrent disc herniation being the most common adverse events [18,19]. One of the key findings of this study was that there was a significantly greater functional recovery for younger patients compared with older patients. This is corroborated by recent studies indicating that younger patients have decreased degenerative spinal processes, increased postoperative rehabilitation potential, and increased regenerative capacity. Similarly, patients who had symptoms for less than 6 months had a better outcome after surgery than those with more than 6 months of symptoms. If there is a delay in surgical treatment, chronic compression of the nerve root and permanent nerve injury may develop, leaving a poor chance of

full recovery of function. Recent cohort studies have also found similar results, with a focus on the advantages of early surgical intervention following failure of conservative treatment [20-21]. In this study, a correlation between patient gender and postoperative recovery was not significant. This result is consistent with a few recent studies that showed that patients of both sexes are benefiting from lumbar microdiscectomy in a similar way when performed based on the accepted surgical indications [22]. From these observations, it would seem that demographic factors should not really be considered in surgical management decisions. There are a few limitations to the results of this study. Because of the retrospective design of the study and the single center, there is a possibility of selection bias and incomplete documentation. The number of patients in the study was small, and the functional outcomes were evaluated only at 6 months after surgery. Furthermore, other factors that could affect long-term outcomes, such as smoking status, occupation requirements, psychological status, and body mass index, were not assessed. The results of these studies need to be confirmed with longer follow-up and larger sample sizes in multicenter prospective studies in order to establish other predictors of postoperative success [23]. In general, the present study shows that lumbar microdiscectomy is an excellent pain relief procedure, which leads to significant improvements in functional parameters, and has a low complication rate in patients suffering from lumbar disc herniation. The results are congruent with current knowledge and add to the body of evidence indicating that lumbar microdiscectomy is the preferred surgical procedure for a well-selected patient population who have not responded to conservative management.

Limitations

The limitations of this study are that it is retrospective, was conducted in a single center, and the sample size is relatively small, the findings may not be generalizable. Long-term results were not possible due to the short follow-up. The follow-up was too short to assess recurrent or late complications. Further multicenter studies with longer follow-up are indicated.

CONCLUSION

Lumbar microdiscectomy is a safe and effective surgical procedure for lumbar disc herniation, which relieves pain and improves function and has a low incidence of complications. Better postoperative outcomes were related to earlier surgical intervention and younger age. This Study confirms the use of lumbar microdiscectomy in the proper patients.

Disclaimer: Nil

Conflict of Interest: Nil

Funding Disclosure: Nil

Authors Contributions

Concept & Design of Study: Baynazir khan

Drafting: attiya nasir,

Data Collection & Data Analysis: faiz alam, saad sultan

Critical Review: Baynazir khan

Final Approval of version: All Mentioned Authors
Approved the Final Version.

BIBLIOGRAPHY

1. Kumarasamy D, Rajasekaran S, Anand KS, Soundararajan DCR, Shetty TAP, Kanna PRM, et al. Lumbar disc herniation and preoperative Modic changes: a prospective analysis of the clinical outcomes after microdiscectomy. *Global Spine J*. 2022;12(5):940-951. doi:10.1177/2192568220976089.
2. Hua W, Ke W, Wang B, Xiang Q, Zhang Y, Wu X, et al. Comparison of the clinical outcomes of full-endoscopic visualized sequestrectomy and discectomy versus microdiscectomy for lumbar disc herniation. *Orthop Surg*. 2022;14(2):280-289. doi:10.1111/os.13087.
3. Zhang ZC, Zhang Y, Zhang LZ, Meng H, Du P, Wang XH, et al. Single-segment lumbar microdiscectomy: drainage or not. *Zhonghua Gu Shang*. 2021;34(11):1072-1076. doi:10.12200/j.issn.1003-0034.2021.11.016.
4. Siu TLT, Lin K. Direct tubular lumbar microdiscectomy for far lateral disc herniation: a modified approach. *Orthop Surg*. 2016;8(3):301-308. doi:10.1111/os.12263.
5. Smith MW, It A, Carragee EJ, Cheng I, Alamin TF, Golish SR, et al. Does the presence of the fibronectin-aggrexin complex predict outcomes from lumbar discectomy for disc herniation? *Spine J*. 2019;19(2):e28-e33. doi:10.1016/j.spinee.2013.06.064.
6. Arts MP, de Wispelaere MP, Miedema J, Schröder ML. Recurrent lumbar disc herniation after tubular microdiscectomy: analysis of learning curve progression. *World Neurosurg*. 2017;107:28-34. doi:10.1016/j.wneu.2017.07.121.
7. Hamadani SA, Sulaiman II, Abdulhameed AM. Effect of duration of symptoms on the clinical and functional outcomes of lumbar microdiscectomy: a randomized controlled trial. *Orthop Surg*. 2022;14(1):157-168. doi:10.1111/os.13114.
8. Siccoli A, de Wispelaere MP, Schröder ML, Arts MP. Timing of surgery in tubular microdiscectomy for lumbar disc herniation and its effect on functional impairment outcomes. *Neurospine*. 2020;17(1):204-212. doi:10.14245/ns.1938448.224.
9. Choy WJ, Phan K, Diwan AD, Ong CS, Mobbs RJ. Annular closure device for disc herniation:

- meta-analysis of clinical outcomes and complications. *BMC Musculoskelet Disord*. 2018;19(1):290. doi:10.1186/s12891-018-2213-5.
10. Anderson DG, Popov V, Raines AL, O'Connell J. Cryopreserved amniotic membrane improves clinical outcomes following microdiscectomy. *Clin Spine Surg*. 2017;30(9):413-418. doi:10.1097/BSD.0000000000000544.
11. Zhang B, Liu S, Liu J, Yu B, Guo W, Li Y, et al. Transforaminal endoscopic discectomy versus conventional microdiscectomy for lumbar disc herniation: a systematic review and meta-analysis. *J Orthop Surg Res*. 2018;13(1):169. doi:10.1186/s13018-018-0868-0.
12. Hamadani SA, Sulaiman II, Al-Humaira AK. Open fenestration discectomy versus microscopic fenestration discectomy for lumbar disc herniation: a randomized controlled trial. *BMC Musculoskelet Disord*. 2020;21(1):384. doi:10.1186/s12891-020-03396-x.
13. Krotkov AV, Sanginov AJ, Bykov ES. Predictors of treatment success following limited discectomy with annular closure for lumbar disc herniation. *Int J Spine Surg*. 2020;14(1):38-45. doi:10.14444/7005.
14. Reyes A, Aguilera MP, Torres P, Reyes-Ferrada W, Paolillo L. Effects of neural mobilization in patients after lumbar microdiscectomy due to intervertebral disc lesion. *J Bodyw Mov Ther*. 2021;25:100-107. doi:10.1016/j.jbmt.2020.10.023.
15. Ramola M, Aggarwal A, Singh R. A simple new cost-effective retractor system for exposure in lumbar microdiscectomy: one-year outcome analysis. *World Neurosurg*. 2022;165:133-140. doi:10.1016/j.wneu.2022.06.096.
16. Verla T, Goethe E, Srinivasan VM, Winnegan L, Oyesiku I. The minimally invasive paramedian approach for foraminal disc herniation. *J Clin Neurosci*. 2020;75:62-65. doi:10.1016/j.jocn.2020.03.029.
17. Khanna R, Malone H, Hecht N, Deutsch H, Fessler RG, Fontes RBV, et al. Multilevel minimally invasive lumbar decompression: clinical efficacy and durability to 2 years. *Int J Spine Surg*. 2021;15(4):795-802. doi:10.14444/8102.
18. Ahmadi SA, Burkert IP, Steiger HJ, Eicker SO. Multidimensional long-term outcome analysis after single-level lumbar microdiscectomy: a retrospective single-center study. *Eur J Orthop Surg Traumatol*. 2018;28(2):189-196. doi:10.1007/s00590-017-2043-4.
19. Joswig H, Neff A, Ruppert C, Hildebrandt G, Steiger HJ. Repeat epidural steroid injections for radicular pain due to lumbar or cervical disc herniation: what happens after salvage treatment? *Bone Joint J*. 2018;100-B(10):1364-1371. doi:10.1302/0301-620X.100B10.BJJ-2018-0461.R1.
20. Gibson JNA, Subramanian AS, Scott CEH. A randomized controlled trial of transforaminal endoscopic discectomy versus microdiscectomy. *Eur Spine J*. 2017;26(3):847-856. doi:10.1007/s00586-016-4885-6.
21. Steiger HJ, Joswig H, Chau I, Neidert MC, Belotti D, Wachi T, et al. Efficacy of intraoperative epidural triamcinolone application in lumbar microdiscectomy: a matched-control study. *J Neurosurg Spine*. 2018;28(3):291-299. doi:10.3171/2017.6.SPINE161372.
22. Aldemir K, Gürkan A. The effect of pedometer-supported walking and telemonitoring after disc hernia surgery on pain, disability, and quality of life. *Int J Nurs Pract*. 2021;27(2):e12917. doi:10.1111/ijn.12917.
23. Ardeshir A, Miller LE, Hymowitz M, Jadik S. Surgical experience and complications in 50 patients treated with an annular closure device following lumbar discectomy. *Orthop Surg*. 2019;11(3):431-437. doi:10.1111/os.12495.